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r Vhen all of the numerals are in place for a parricular
discuss the reasons for putting them in those places. F{er. _:

example:

5 6I
+7tr1
tr308

r \Mhat number goes in the top box?
(lt has to be 7, since 7 +1 :8.)

tr W"hat number goes in the box between the T and l?
(It has to be 4, because 6+4-10.)

r That means that the number in the bottom box u-ill b= _

since 5+7 +1 :13. The 1 comes from the ten, carried -:-:_-
the next column.

r Tiy these problems:

3tr
X5

7Lt] 1tr5 trl
I Have your children work togetheq with you or with eaci^.

other, to solve the problems on the next page.

More ldeas
n Have children make up missing digit problems.'Write dc..,,:. .. .

arithmetic problem, and draw boxes around some of the :-_:-,
bers (not too many at first!). Then rewrite the problem c:-
another sheet of paper, with the boxed numbers left out.

Example:

1 4 tr 0

7 s4

3 B Z

74
3Ir

74
3Ttr

74

ZB
+3I

3OB trOB trOB

Have the children check that their problems are possibrle :: : :

then give them to each other to try. Do some problems h a-" 
=

more than one solution?
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FIND THE DIGITS aaairion, multiplication, division
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